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Assessor’'s Comments

Q1 Tunnelling:

Quite a popular question and generally well tackled by those who solved it. The main substantial
error was by candidates who chose to represent the process as purely elastic and hence missed
substantial parts of the complexity of the problem.

Q2 Stress Paths Quite a popular question but not very well dealt with on average. Parts a-c
contained mostly minor errors, but there were few good attempts at any substantive analyses of
stability in part d.

Q3 Triaxial testing

A popular question with many excellent attempts. The average mark was dropped by many
incomplete solutions, probably due to lack of time. Where the question was completed, the marks
were generally high.

Q4 Slope stability:

The least popular question, but well handled by most. Quite a few candidates lost marks on part a)
as they considered infinite rather than finite slopes.
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